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Question 1 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

For each question, four options are given. One of them is the correct answer. Make your choice.
(56 marks)

The dagrams show 2 rees, R and 5, & the same ocation i a ganrden.

fraEs

dack noliced hat the grase under ane of the irees grew more healthlly than that
of the olher.

Whichi of the following correcily shews the free under which the grass was
healthler and the mason

v A Tree [ Reason
R The grass gets more sunlight to make food.
B. |Tree|Reason
R Fewer animals can make their homes in the tree.

https://www.classmarker.com/a//tests/test/?test_id=1833944 1/59


https://www.classmarker.com/a/
https://www.classmarker.com/a/assign/groups/?test_id=1833944&trk=assign_edittest
https://www.classmarker.com/a/tests/
https://www.classmarker.com/a/tests/#tests
https://www.classmarker.com/a/tests/#groups
https://www.classmarker.com/a/tests/#links
https://www.classmarker.com/a/assign/tests/
https://0cm.classmarker.com/10070943_3R5UVCTK.jpg

11/1/21, 7:47 AM

ClassMarker - Manage Test

D. A/B

Question 2

C. |Tree |Reason

S The temperature under the tree is lower.
D. |Tree|Reason

S The grass does not get beaten by the falling rain.
Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,469

Jol sow animal X ina moddy arsa,

Arvira| X b e following characierislics:

A It fios.

B It lays eogs.
C  Eorectss Syough gils.
O b= body s coversd with soales.

st v i b classily animal X i either Giroap P or Giroup Q as shown beloe,

e — iy

Group P Group O

Primary 6 Science » Primary 6 Science (Prelim)

Which of the characierizics of animal ¥ would help Josl i Hs cleesficabion?

A. AandConly
B. BandConly

A, C and D only

and D only
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,474

Question 3 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The graph below shows the nember of days of sach stage in the life cycle of an

insect,
adult femsale
aduit male
) |
£ puoc
7]
larva
&qn =
o = 0 15 20 25 H

Mrmber of days

Eazed on the graph, Johasd wrole the following statemeanés.

The larva takes 5 deys to hatch from The egg.

The irsecl lakes 20 days fo become an adult,

The make insect dizs soon after it fertilsas the eggs.
The Ireact takes 25 daya to change fram lans o pupa.

0 0O o

Which of Fe abowve statement(s) istare cormect?

v A, Aonly

B only
C. AandConly

B and D only
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,492
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The diagram below shows whet the inside of a sesd looks e,

Which of the foliowing grapha correctly shows the change in rmass of paris X and
¥ if the seed is germinating and growing?

A.
mass (3)
Y
1l
X
time (days)
B mass (g)
4
Y
time (days)
v C

https://www.classmarker.com/a//tests/test/?test_id=1833944 4/59


https://0cm.classmarker.com/10070943_ND1ULLQE.jpg

11/1/21, 7:47 AM

mass (g)
E ]
X
- "nr"
time (days)
mass (9)
I
Y
X
time (days)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,501

Question 5
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Uina placed fivn identical small plants inlo separate pots of the samea sima
cooTigingrg (he smme amount af soil

She wanked fo invastigate how dfferent condtions s¥oct the growth of plants.,

The diffarant corditions are shown i the table below, A tiek (<) represants the
presence of ihe faciars,

||— Comdition I Fot & PotB Pot © PotD Pl E
Brasanta of waler - A - - v
Presance of sand - et v v 7

~ Presence of light 7 7 ; s T 7

“Freeence af minerals | . W W ¥ 7|

The dingrams show Dina’s planis after one weak.

ulu

Pat & Patg Ped Pol D PoiE

Accoring by Dina's resulis, which faclor has tha lpasi efssi an plardt geowth ¥

A. water
v B. sand
C. light

D. minerals

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: N/A

QID#: 29,329,520
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targe imestine

Blood flowing in A has

| more oxygen ‘ less carbon dioxide | less water |

B. | more oxygen ‘ more carbon dioxide | more water ‘

C. | less oxygen | more carbon dioxide | more water |

D. | less oxygen | less carbon dioxide | less water l

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 7

Multiple Choice
No

Thu 14th Oct 2021
N/A

29,329,541

The production of sperms will not take place.

B. The number of sperms produced will be reduced.

https://www.classmarker.com/a//tests/test/?test_id=1833944

C. The sperms produced will not be able to fertilise the eggs.

D. The movement of sperms towards the eggs will be slower.

The dizgrarn shaws bisad flowing through she s iniestne of the human body,

Which of fhe following is cormest about the amounl of oxygen, crrbon doxkde and
wadner in the blood flowing In A as companed b B7

Primary 6 Science » Primary 6 Science (Prelim)

The diagram below shows the male reproductive system in human.

If parts £ are removed, what will most likely happen as a result?
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Date Added:

Last Modified:

QID#:

Question 8

tl'iEIrlL,..-

A. AandBonly
B. AandConly
C. BandConly

v ' D. A BandC

Question Type:
Date Added:

Last Modified:
QID#:

Question 9

Randomize Answers:

Multiple Choice
No

Thu 14th Oct 2021
N/A

29,329,555
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Ahmad opaned wp frul D shown below and found many seeds insfde.

A Thara were many cwiles in the ovary of the flower.
B Palimation and ferlifisation had 1aken pheee lo form the fruit above.
C  The strong emedling seeds attracted snimals to eat and halp dispersed

Muiltiple Choice
No

Thu 14th Oct 2021
N/A

29,329,563

https://www.classmarker.com/a//tests/test/?test_id=1833944

¥Which of lhe following statements aboul fruit D are comect?

Primary 6 Science » Primary 6 Science (Prelim)
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The diagram shows process P carried out by plants.
Erocgsg F

water - 1] - L) =y Sugar + w

Vihich of the following comectly describes L, W and W7

A lu v w

carbon dioxide | warmth [ oxygen

B. |u Y, w

oxygen | warmth [ carbon dioxide

C. |u vV o|w

oxygen | light | carbon dioxide

carbon dioxide | light [ oxygen

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,585

Question 1 0 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The diagram shows the stages and proceszses X and ¥ in the life cycle of a

flowering plant,
seed
x T
ﬁlﬂtupm,,,ﬂm young plant
L -

Which of the lollowing correctly showa the poesible procass for X and Y7

A. |Process X |Process Y
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germination |dispersa| |

B. |Process X |Process Y

fertilisation | pollination

v C. Process X |Process Y

fertilisation | germination

D. |process X |Process Y

dispersal | pollination

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,594
Question 11 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Mary sef up an experiment as shown halow,

baakar

hag
—— aiarch sclution

bodine sobutian

Afler a few hours, a dark blue coloration was observed in the starch solution
outaide the bag in the beaker,

The diagram below shows a plant call.

e,
=y

i

Which part of the cell, A, B, C or D, does the bag in Mary's experiment
reprasant?
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A A
v B. B

C. C

D. D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,598

Question 12 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Hashim wanled 1o find out the effect of substance W on an aqualic plant, He
placed some water moes fem ina beaker of water containing substance W as
shown below.

waber moss fem

..F--"'"FFH boaker of waler with
subsiance W

Wihich of ihe following should Hashim do bo enable hm 1o compare the efiect of
subsianca W on the waler moss Fam after wo waaks?

A Poura leyer of oil on the waler 28 fhe stad,

E  Sel upacondrol beaker conaining waler and waler moss ferm only ot the
slarl

4 Measure ihe msss of watar moses fern after ted weeks.

O Count the nurnber of water mess fern fhad ara alive alfler wo weeks,

A. AandB only
C and D only
C. A,CandDonly

¥ ' D. B, CandDonly

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: N/A

QID#: 29,329,602
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Question 13 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Tha diagram below shows several @ sacs, suroundad by blood vessaks, which
are faund in our lungs., The bleod vesasd X caries blood from the heart whila the
bbood wessal Y carrles Baod o tha heard.

hayart
1

Haod vessel X

bload veszel v

Which of the fallowing stetements ara comact abeul X, ¥ and the air sac?

A The Bliood In X s ncher in oxygen than e bood In Y.

The blood in Y is poarer in carbon diowsds than the biood in X,

The air laaving tha air sac and oul of the lungs conlaing nitrogen.

The blood vessels around the s sac help to axchange gases aficiently,

oo m

A. AandBonly
C and D only
v C. B,CandDonly

D. A,BandDonly

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,613
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Rev placed & ball |6r ever @ plant which had been watersd, He then covaned the
hall jar with a thick black cloth. Meut, be placed his sl-up under the sun fram 9

a.m. o 12 noom

o T
A

Sun

el Jar covarsd with a
plamt thick black clodh

Wthich tne of e Tolowing graghs shows comesilhy 1 changes in the prmcunt of
carhon disxdce and axpgen in the bell jar duging the penod of fime?

Key:

oxXygen
—-— carbon dioxide

A amount of gas (cm?)
’-
time (hours)
amount of gas {(em?)
F Y
FFF..-/
b
time (hours)

C.
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&

amount of gas (cm®)

v’ D.

&

=3
time (hours)

amount of gas {cm?)

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

.-.
time {(hours)

Multiple Choice
No

Thu 14th Oct 2021
Thu 14th Oct 2021
29,329,617
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The Aoy chart below shows some propertiss of matariale A, B, C. 0 E and F.

II Malerials &, B, C, D, E and F ||

ro
r I it warlarproof' 7 l—_.. A

LS no
Fa— leitatrong? o lyilflebio? | | Doesf conductheal | ,p

. i i)

no
Daves il mell sasly at high lemperalire?  |—a E C
o
(13

Bazad on the infommalion abeis, which of the folicwing shews the moat suitate
matesial for making gloves and lalmsts for fremen?

Gloves | Helmets

A C

Gloves [ Helmets

B D

Gloves [ Helmets

B E

Gloves | Helmets

C F

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: Thu 14th Oct 2021
QID#: 29,329,670
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Thea diagimns shir rves chjgcs of differan abagas snd mads of difersnt malerdols

cdear gl
glap| \}\
. ] fI’I,III
WL | 9 -
. Fad
Fim =
j
N
- —l-llI - B -
RE-- 3
s wlar

The fnnes obiects were ghoed togethar, They wera placad bebwaen a borch and a
cormen as shown below

Biraan

-

RIUATR

Yifiich cne of the fofosing shews e Shadow cosf Gn s strean?
A.

: E
C.
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,691
Qu estion 17 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Two subsiances, S and T, wera in a besker placed on a kable 2= shown balow,

wondarn
wedge

Based on the diagrams above, which of the following statements about
substances S and T are cormect?

& Substences 3 and T occupy spacs.

B Bubstances 5 and T have definite voluames,

C Subsiance 5 cannol be compressed but substance T can,

0 Substsnce 8 has a definite shape but subsiance T does not.

v A. Aand B only
C and D only

C. A,BandD only

B, C and D only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: N/A

QID#: 29,329,694
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syringe A

Hl

of air
glass

Question 18

1 -:lrln’ :_Ili

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Prelim)

Study the dagram below carefully. The capadiy of e ancdoaad gless contenes
s BO0 em® and H conlaine same waler ol the siari.

syringe B

C \i_1

N 30 am™af air

Samiaines

—— waler

puehed In?

A. 280 cmd
v B. 320cm3
C. 400cm?3

D. 720 cm?

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

Muiltiple Choice
No

Thu 14th Oct 2021
N/A

29,329,696

Whaih qmpan.k and B sra pushed in compledehy taica, tha inal volume of 6 0
Ihe glass cantalner becomes 480 om®.

What = the welume of watar In-1ha glass conlainer before the syringes are

Primary 6 Science » Primary 6 Science (Prelim)
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Roy placed a torch al posfon K The torch shone a8 an objec) that wee placed at
position M ag shoan befow. A shadow was caal on he scraen,

BOTEEN

[ ruler

At wihich poaiticna of he fuler should the torch and the chijgct be placsd =0 as o
abtzin a bigger shadaw on the screan than belee?

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 20

Multiple Choice
No

Thu 14th Oct 2021
N/A

29,329,701
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Foallion of lorch Positlon of abject
| A K M
B ) J
C L M =

] 4
A. AandC
Aand D
v C. BandC
D. BandD

Primary 6 Science » Primary 6 Science (Prelim)
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Anna 48t U an experimant as shown below using two inon bars, P and O, which
hawe @ miss of 40 g each,

spring balance:

=ring

iron bar P ———

——— rabo stand

ronbar 0 ——y

walghing .
I ‘!r-d—l—) |

The tabbs balow shows the readings on e welghing scale and apring bakanca when the
on bars ware amanged 85 shown above

| Reading on spring balance __ Reading on weighing scale
Lees than Ak g #ore fhan &0 g

Baszad an the resullts o the fable sbove, which one ol 1he follewing abelemanis &
miaat ikely 1o be comect?

¥ A. Iron bar P and iron bar Q are both magnets.
B. Iron bar Q can attract more iron nails than iron bar P.
C. There is force of attraction between iron bar P and iron bar Q.

D. When iron bar Q is turned upside down, the reading on the spring balance will decrease.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,704
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HMMnMdmmﬂﬂmumslmmdmlﬁc Thverr wesne
nass,
differant materials W, X, ¥ and 2. e ot

Sha flled sach muyg with 250 il of hot wibar at 607G, The temoeratura of e
weler in the migs was Lhean maasired avary fao minuog,

5D D0

T resulbs of the axpanimont wers plctled an the arapl e,

Termperabure (*C)
i
G W
x
Y
£
Trra {minides)

Which of the follawing stabements about the four malerials ane cirracty

Material X s & poorer conduetar of haat than matarial 7.
Matarial Z b the bes conduttar of Pea amang the four mstarnals.
Vi'minr will heat up the Tasies F it s plaoad in it musg made of materal W

Water reralined het for g longer pericd of Eme in e mug msde of malarl
Y than material X,

0O m >

v"A. AandBonly
B. CandD only
C. A,BandD only

D. A, CandD only

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,712
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The dizgram shows the movement of watar in lhe envronment

I water vageur

G

water bodies

ClassMarker - Manage Test

G louds

D

dl

plants

Based an tha disgram given, which of the following comecily shows the change

in =2iate of waler?

From liquid to gas | From gas to liquid

B

D

From liquid to gas | From gas to liquid

Cc

A

From liquid to gas | From gas to liquid

Cc

A and B

From liquid to gas | From gas to liquid

A and D

B

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Multiple Choice
No

Thu 14th Oct 2021
N/A

29,329,720
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O 0O m >

A. AandConly
B and D only
v C. A BandD only

D. A, B,CandD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 24

https://www.classmarker.com/a//tests/test/?test_id=1833944

switch

s

When the sedich = clossd, only Suls B oand C i) up,
Whet anm: some passibe ressons for ke cheereglion?

Bub & has fused,
Malerial X canno? conduct Meockicily.

Tha balt=ries are nol connected proparhy
Mabariala ¥ end T afe conduches of elsctricily,

Muiltiple Choice
No

Thu 14th Oct 2021
N/A

29,329,727

ClassMarker - Manage Test

John set up a cireuit as shown bedow which comsiats of hres bulbs, A, B and G,
as wall 65 thrae diffarand maberale, X, Y end Z.
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Joyoa made & loy with a biook and & balloon. She pumpesd air o the ballaon
and then released d, Tha oy moved on the surlace ol tha lable in e drection
shown by Bha armow in the diagram below, 1t came o 8 shop 8l poailion X.

balloen
dirgction of maving tay
deflatad balioon
ook ;
A
surlace

Vethich of thi following cormestly shows the snergy cormsion in ihe oy
bagErming with T beflcan llad wih air?

A. chemical potential energy ----> gravitational potential energy ----> heat energy + sound
energy

B. gravitational potential energy ----> kinetic energy + heat energy + sound energy

C. gravitational potential energy ----> elastic potential energy + kinetic energy + heat energy
+ sound energy

v’ D. elastic potential energy ----> kinetic energy ----> kinetic energy + heat energy + sound

energy
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,843
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Feter hung threa weoden blocks, A, B and C, cae sl a tire, from a ewing and
redsased each ons from sther posion X or ¥ as &hown in the diagram below.

/ SRR

r—

wonden block

The mgss of sach biock and the pesition from which i was refensed are ahiwn

n the tabie bedow,
Weoodon block |
ofden Hum;:tm Position m-pf;h:h il was
& 100 X
[ B 200 X
i 100 ¥

Each fima the block hif the wall, a sound was producad. Peler measurad the
sownd level using a data logger and recorded his findings.

m:bmi:.?n:m foliowing correctly shows the sound hevel recorded for each wowsclin

A. Sound recorded in units

A |B |C
300|350 |300

350 (300|350

300 350|225

225 (300 | 350
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,856
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iy

B
C
D

ClassMarker - Manage Test

Al dropped a ball from a table, The dotted lines shown in the diagram bedoe
represent the path that the ball fook.

Based on lhe disgran, AR wrote the falloweng statements in his nodebook,

The kineflc anergy Increases from Ao B,

The kinetlc energy decraases from Do E

The potendial energy remasing unchanged from Ao C.
The poential energy increases from F o G,

Which of the siatements wrillen by Arif ane cormeat?

A. AandBonly
A and D only
v' C. A, BandD only

D. B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,861
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Kai #nd Don were playing 8 gamea of Frishes (3 Bght plasiic disc),
Kal threw (e Fristess as shown in disgram 1.

path of Frisbea

e

Frisbea

Diagrarm 1

Dor tried 1o catch the Frisbees as shown in disgram 2 but feled. He only
managed o touch the Frisbes,

CHagram 2

Which of the Ioflowing statements abaul forces eormesliy explain the resull of

Kai's and Don's actons?

A |Kai Don
A force stops a moving object. | A force changes the direction of a moving object.

B. |Kai Don
A force changes the speed of a moving A force causes a stationary object to
object. move.

v C. Kai Don

A force causes a stationary object to A force changes the speed of a moving
move. object

D. |Kai Don
A force changes the shape of an object. | A force stops a moving object.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 14th Oct 2021
Last Modified: N/A

QID#: 29,329,886
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The diagram below shows a car driving up & slope

@/

Which of the folowing cormeactly shows the changs in gravilational Toree as he
car moves from P o O and from C o B?

A. lPtoQ |QtoR

increases | increases

B. |lptoQ@ |QtoR

increases | remains unchanged

C. lPtoQ QtoR

remains unchanged | increases

v'D. lptoQ QtoR

remains unchanged | remains unchanged

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,905
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Shewn condwcted an exparimenl #& shown below,

fran block

v+

rratessd (o ba tesied

He tesied four materials, W, X, Y end £, ssparsiely by placing iron bocks, each
waighing 1 ki, on each malerial until £ broke,

Ha recomded {he resulte of hiz experiment in he labie bolow.

[ Material | Mumber of iron biocks that caused the matorial to broak
] W 8
I x 12

¥ 15

£ 5

Which property of the materials was Shawn testing? (1 mark)

Accepted answers:

¥’ strength

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,329,911

Question 30 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Shenwn conductad an expaimenl & shown below,

i
il miaterial to be tested

[+

He tested four maierials, W, X, ¥ and 2, eaparsisly by placing ron blocks, each
weighing 1 kg, on each material unkil & broke,

Ha recoaded {he results of hiz experimsend in the labie bodow,
| Material | Number of iron biochs that caused the matorial to broak

g

W i)
I X 12
L 15
Z ]
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The gisgram below shows a bumped car Inan amuserment gark. The cars will bump
inta che anciher af, parl Q.

Parl O

Wiich matersfal, W, X, % or Z, is the most suitable for making pat O of ihe bumaar
car? Give 8 regson for youwr choice of answear, 23

Accepted answers:
v’ Material Y

vy

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,927

Correctly answered feedback

Material Y. It takes the most number of blocks to break it. Y is the strongest so does not break
easily when other cars knock into part Q.

Incorrectly answered feedback

Material Y. It takes the most number of blocks to break it. Y is the strongest so does not break
easily when other cars knock into part Q.

Question 31 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The diagrams show & cockroasch and Bs life cycie,

)

adilt young

The cockroach lays many eggs at a time.

Explain how this helps the cockroach in the continuation of its kind. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,968

Correctly answered feedback

It increases the chance of more young growing into adult (to reproduce).

Incorrectly answered feedback

It increases the chance of more young growing into adult (to reproduce).

Question 32 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The disgram balaow shows (ke iile cyele of insect 3

2N

o P 4

Berrny compansd e lhe cpcla of the cochroach and Thal of irmect X,
Dither than 1ha rumier of sleges in the life cycle. s1atas anathar diference bebasean
tha Be cycles of the cockrach and ingect X, &)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,041

Correctly answered feedback

The young of the cockroach looks like the adult but the young of insect X does not look like the
adult.

Incorrectly answered feedback

The young of the cockroach looks like the adult but the young of insect X does not look like the
adult.

Question 33 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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The graphe show the changa In the mass ol Tour different ypes of food, A B, Cand
0, In different pare of the digeslive system.

in the mouth

miass of in the stomach
1000 20 oo =
{Lmils} 150 "
a0 .
G0 -
40 -
20 .
0
8 o 8]
type of food

in the small Intestine

Based on the graphs, which type of food is digested only in the small intestine? (1 mark)

Accepted answers:

v B

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,330,080
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The graphe show the changa In the mass ol Tour different ypes of food, A B, Cand
0, In different pare of the digeslive system.

in the mouth

miass of in the stomach
focd 120 e, S
{umits} 100 "
ag .
G0 .
40 .
0 em
o
a [ W]
hyee of food
in the small Intestine

Describe what happens to the digested food in the small intestine. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,089

Correctly answered feedback

Digested food is absorbed into the bloodstream.

Incorrectly answered feedback

Digested food is absorbed into the bloodstream.
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Question 35
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Primary 6 Science » Primary 6 Science (Prelim)

Hinry placed four planis in idengcal jams, sach conlsiring walsr ol the same kevel of
250 mm 88 shown below. He then placad the four sat-ugs, A B, G and D, reed e s
wrlniddos for throe hcars.

sat-up O

AL e ared of the experinenl, Henny masisured the halght of waler In each jar. Ha
feaund the hesght o be 280 mm, 248 mmi, 2£0 mm and 230 mm,

Match A, B, C and D in the options below to show the correct results of the experiment for each set-up.

Clue

Height of water at start of
experiment (mm)

250

Height of water at end of
experiment (mm)

250

set-up

Points: +0.2 =0

Height of water at start of
experiment (mm)

250

Height of water at end of
experiment (mm)

245

set-up

Points: +0.2 =0

Height of water at start of
experiment (mm)

250

Height of eater at end of
experiment (mm)

240

set-up

Points: +0.3 =0

Height of water at start of
experiment (mm)

250

Height of water at end of
experiment (mm)

230

set-up

Points: +0.3 =0

Question Type: Matching

Shuffle Mode: Shuffle Matches Only
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Henry placed four planis in idengcal jars, sach conlairing walsr al the same fevel of
Z50 e 88 ehown below. Ha then placad Tthe tour eat-ups, A; B, © and D, rexd b ha
valnidaow for throe hours.

set-up D

AL fha and af the exparmenl, Henry masasured the height of waler In each jar. Ha
found the height io be 280 mm, 246 mm, 2£0 mam and 230 mm.

If Henry wanted to show that the roots of the plants take in water, which two set-ups should he
compare? (1 mark)

Accepted answers:
v AandC
v Cand A
v SetupAand C
v Setups Aand C
¥ set-ups A and C

¥ set-up Aand C

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,132
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Henry placed four planis in idengcal jars, sach conlairing waler al the same evel of
250 i a8 shown Bedods, Ha than piacad The four 2at-lige, A B, C and D, fsidd b s
valnidaow for throe hours.

set-up O

sitap B

AL fha and af the exparmenl, Henry masasured the height of waler In each jar. Ha
found the height io be 280 mm, 246 mm, 2£0 mam and 230 mm.

Based on your answer in the previous question, which set-up serves as a control? Give a reason for
your choice. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,142

Correctly answered feedback

Set-up C. The roots are wrapped in plastic bag to prevent them from taking in water.

Incorrectly answered feedback

Set-up C. The roots are wrapped in plastic bag to prevent them from taking in water.

Question 38 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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The dagram below shows g plant whie the arrows represent pard of the franspord
systern faurd In the plant.

— leaf

atam

Identify the type of tubes in the transport system represented by the arrows.

Type of tubes:

Accepted answers:
¥" Food - carrying tubes

¥’ Food-carrying tubes

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,330,164
Question 39 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The hagram below shows g plant whie the arrows reprezent par of the ranspord
sysbern fourd In the plant.

— lead

atam

Describe its function in the plant. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,173

Correctly answered feedback

They transport food made in the leaves to the roots / other plant parts.

Incorrectly answered feedback

They transport food made in the leaves to the roots / other plant parts.

Question 40 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The diagram below shows g plant whie the arrows represent pard of the franspod
sysbern fourd In the plant.

— lead

atam

Besides absorbing water and mineral salts, state another function of the roots in the plant. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,180

Correctly answered feedback

The roots help to hold the plant firmly to the soil.

Incorrectly answered feedback

The roots help to hold the plant firmly to the soil.

Question 41 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Tha diagrams below show Bava freits, X and Y, which disperse their seads when they
eplit open.

Fruit X Fruit Y
Based on the diagrams, which fruit, X or Y, is more likely to disperse its seed further away from its
parent plant? Explain your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,199

Correctly answered feedback

Fruit X. The seeds have fine hair-like parts that allow them to be carried away by wind.

Incorrectly answered feedback

Fruit X. The seeds have fine hair-like parts that allow them to be carried away by wind.

Question 42 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
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Tha diagrams below show Bava freits, X and Y, which disperse their seads when they
eplit open.

Fruit X

Flowar & Flower T

Based on the dagrams, which lower, 5 or T, i Bely 1o have Hs flowess polinated by
an animal? Give bam reasons far your answer.

(2]
Animal-peiiingtad flowear:

Rieason 1:

BEsiason 2

Accepted answers:

v’ Flower S

v's

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,216

Correctly answered feedback

Flower S
Reason 1: It has large petals.
Reason 2: The anthers and stigma do not hang outside the flower.

Incorrectly answered feedback

Flower S
Reason 1: It has large petals.
Reason 2: The anthers and stigma do not hang outside the flower.
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Question 43 Primary 6 Science » Primary 6 Science (Prelim) O pts

Werk conductod an axparEment with tha sat-up shown balow

He reconded his observalian in the table below.

| Distance of kamp from hydrilla [em) | Langth of gas solumn prochiced in &
minutes | mem)
16 14
38 i 12 ]
75 B
e ¥
160 - ) 4
200 1
250 - 0

Identify the independent and dependent variable in Mark's experiment. (1 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,226

Correctly answered feedback

Independent variable: distance between light and plant
Dependent variable: length of gas column produced in 5 mintues

Incorrectly answered feedback

Independent variable: distance between light and plant
Dependent variable: length of gas column produced in 5 mintues

Question 44 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Merk conducted an axperment with tha set-up shown balpw

He reconded his observalion in the table bedow.

" Distance of tamp from hydrilia (em) | Langth of gas column prodused in B
mimseEs | mmj
1 H 14
il ] 12 )
75 B
0D T
180 - ) 4
200 1
260 _ o

How does the length of the gas column change with the distance of the lamp from the hydrilla? (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,236

Correctly answered feedback

As the distance between the light and plant increases, the length of the gas column decreases.

Incorrectly answered feedback

As the distance between the light and plant increases, the length of the gas column decreases.

https://www.classmarker.com/a//tests/test/?test_id=1833944
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ek conductad an axparEmient with tha sol-op shown balow

He reconded his observalian in the jable below.

Fﬁiﬁmmli fem) | Langth of gas column preduced in B
minuteE | mm}
10 14
38 ] 12 ]
fi] B
D i
180 : ) &
200 1
pall] — ]

Explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,250

Correctly answered feedback

As the distance between the light and plant increases, the light intensity decreases, thus the rate of
photosynthesis decreases.

Incorrectly answered feedback

As the distance between the light and plant increases, the light intensity decreases, thus the rate of
photosynthesis decreases.

https://www.classmarker.com/a//tests/test/?test_id=1833944
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Merk conducted an axpasment with tha sol-op shown balow

He recorded his obsesvalion in the table below.

" Distance of lamp from hydrilia [om) | Length of gas column preduced in &
minutes (mm}
16 14
a8 | 12 ]
K= B
G E
180 - i 4
200 1
250 i

Using T same sxtup, Veck condodbed 8 second experiment using ten different
waler planis, X ared ¥, He plotied the resuls as =hown in s graphe belos,

Lengtn of gas
Lenghh of oo
pestph. sl i )
0 e 0
\ -\
0 Intbssrvsity of hght 10 imereity of bght
funit) {unity
Plant X Plant ¥

Bl it i Pk ifls of e Sicored axpaimenl which walee planl, X or Y, should be
plaoed i e shiady part of bis pored ¥ Explain pour answer, 12]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,263
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Correctly answered feedback

Plant Y. The length of the gas column reaches 20mm at a lower light intensity. Thus, at the shady
part of the pond, plant Y can still make enough food.

Incorrectly answered feedback

Plant Y. The length of the gas column reaches 20mm at a lower light intensity. Thus, at the shady
part of the pond, plant Y can still make enough food.

Question 47 Primary 6 Science » Primary 6 Science (Prelim)

Jun Jie conducksd an sxperiment by placing a syrnge filad with aif betwesn bvo
pigsos of wooden plank as shown befow,

As he added identical boxes, one at a tirme, onto the plese of wooden plank sbove
the syringa, he measured the woluma of sir trapped in the syringa.

B
wonden
planke z
SyTNge Coniesning
frapped alr

Jun Jie recorded the volume of the air rapped in tha syrings in ihe tabis below,

e [0 [ [ ]+
[ Valume of the air ;
trapped in eyringe | 100 (] 50 45 30 i

(em’)

The volume of air trapped in the syringe decreased as more boxes were added onto the plank above
the syringe. State the property of air which explains this observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,274

Correctly answered feedback

Air can be compressed.

Incorrectly answered feedback

Air can be compressed.

https://www.classmarker.com/a//tests/test/?test_id=1833944
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Question 48 Primary 6 Science » Primary 6 Science (Prelim)

Jun Jie conducksd an sxperiment by placing a syrnge filad with aif betwesn bvo
pigcos of wooden plark as shown befow,

As he added identical boxes, one at a tirme, onto the plece of wooden plank sbove
the syringe, he measured the woluma of air trapped in the syringa.

]
wondan
planks z
SyTNge Coniesning
frapped alr

dun Jie recorded the vohame of the sir repped in the syrings in he tabis balow,

Number of boxes
addad

[ Vielume of the air
| trapped in eyringe | 100 ] =0 a6 30 i
(em?)

The mass of air trapped in the syringe was 4.8 g when one box was placed onto the wooden plank
above the syringe.

State the mass of air trapped in the syringe when 4 boxes are added. Explain your answer. (2 marks)

Accepted answers:
v 48¢g

v 4.8g

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,301

Correctly answered feedback

4.8g. No air was added or removed from the syringe.

Incorrectly answered feedback

4.8g. No air was added or removed from the syringe.

Question 49 Primary 6 Science » Primary 6 Science (Prelim)
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Tom conducted an investigation using three different typess of mammats, P, Qand B
For cach iype of mammal, he usad 5 animals. He messunad the kength of fur and fe
amount of air trapped by thelr coat of fur,

He piodiad the results of s invesligation in ibe diagram befow, Each symital
TeprEsants ane l','pa o riarmemial

Arnaunt of & irapped {cm?)

o008 o @
P B
Lemgth of fur {cm)
K
A ® *
Mammal P Mamiss] O Mammal B

How does trapping air enable mammals to keep themselves warm? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,318

Correctly answered feedback

Air is a poor conductor of heat. Heat from the body is lost to the surrounding slowly.

Incorrectly answered feedback

Air is a poor conductor of heat. Heat from the body is lost to the surrounding slowly.

Question 50 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Tom conducted an investigation using three different typess of mammats, P, Qand B
For cach iype of mammal, he usad 5 animals. He messunad the kength of fur and fe
amount of air trapped by thelr coat of fur,

He piodiad the results of s invesligation in ibe diagram befow, Each symital
IeprEgants DI’!‘&[‘,‘FH-DTI‘I"H‘I’!‘HII

Arnaunt of & irapped {cm?)
o008 o @
P .
Lemgth of fur {cm)
K
A ® *
Mammal P Mammsl 3 Mammal B

Based on the results of his investigation, which mammal, P, Q or R, has fur that is best for making
winter clothes?

Accepted answers:

v" Mammal R
v R

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,330
Question 51 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Tom conducted an investigation using three different typess of mammats, P, Qand B
For cach iype of mammal, he usad 5 animals. He messunad the kength of fur and fe
amount of air trapped by thelr coat of fur,

He piodiad the results of s invesligation in ibe diagram befow, Each symital
TeprEsants ane |."'|:|H o Fidmemied

Arnaunt of & irapped {cm?)

o008 o @
P B
Lemgth of fur {cm)
K
A ® *
Mammal P Mamiss] O Mammal B

Explain your answer in previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,344

Correctly answered feedback

The fur is the longest so it traps the most amount of air, thus heat from the body is lost to the
surrounding at the slowest rate.

Incorrectly answered feedback

The fur is the longest so it traps the most amount of air, thus heat from the body is lost to the
surrounding at the slowest rate.

Question 52 Primary 6 Science » Primary 6 Science (Prelim) 0.5 pts
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Sili bailed n pot of water and chsened that substances X and Y ware farmad ms
shivwm in the diagram belos,

Region &

substance

watar

J|||' o ﬁ o J.—l‘l&ﬂ‘lﬂrl:ﬂwlld'rﬂjnn:l

Identify the state of substance X.

subslance X

Accepted answers:

v gas

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,330,352

Question 53 Primary 6 Science » Primary 6 Science (Prelim)

Sill balled » pol of water and cheenvad that subslances X and Y ware farmed ss
shiwm in the diagram belas,

Region &

substance

watar

JIF o ﬁ 0 J’hﬂar(uwlld—mdunj

Identify the state of substance Y.

subslance X

Accepted answers:

v liquid

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,357
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Question 54 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Sili bailed o pot of water and cheenad that substances X and Y ware farmed ws
showm in the clagram below,

Reglion &

substanog Y

watar

‘Ifl o ﬁ o J——l‘lﬂ:ﬂ‘lﬂrl:ﬂwlld'mjnn:l

Describe how substance Y is formed. (2 marks)

subslance X

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,371

Correctly answered feedback

Water gains heat and evaporates to form water vapour which comes out of the kettle. The water
vapour comes into contact with the cooler surrounding air, loses heat and condenses into water
droplets.

Incorrectly answered feedback

Water gains heat and evaporates to form water vapour which comes out of the kettle. The water
vapour comes into contact with the cooler surrounding air, loses heat and condenses into water
droplets.

Question 55 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Sili bailed n pot of water and chsened that substances X and Y ware farmad ms
shivwm in the diagram belos,

Region &

substance

watar

J|||' o ﬁ o J.—l‘l&ﬂ‘lﬂrl:ﬂwlld'rﬂjnn:l

Siti observed that substance Y could no longer be seen beyond region A. Explain her observation. (1
mark)

subslance X

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,381

Correctly answered feedback

Substance Y has gained heat and evaporated.

Incorrectly answered feedback

Substance Y has gained heat and evaporated.

Question 56 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
Two teams of pupils, A and B, were given some items to set up an electric circuit during a competition.
The teams had to use all the items given to form their circuit.
Each team was given the following items:
» 1 battery
» 2 identical bulbs
e 1 switch

e some wires

At the end of the competition, team B's bulbs were brighter than team A's.
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Dirawr thia e cirgult dizgrams formed by fears A and B espaclivaly during e [2]
compestion.

: Team A's cirout i Team Ba circuil

L.
[
L

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,403

Correctly answered feedback

QR @ —

Team A Team B

Incorrectly answered feedback

T o— b= e

QR @ —

Team A Team B
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Question 57 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
Two teams of pupils, A and B, were given some items to set up an electric circuit during a competition.
The teams had to use all the items given to form their circuit.
Each team was given the following items:
» 1 battery
e 2 identical bulbs
» 1 switch

e some wires

At the end of the competition, team B's bulbs were brighter than team A's.

The tearms were Shen given the chicuil shown balow,
All tha swiiches, 81, B2, 53 and 54, In the drcuil wers opened aj the sias,

1 8-

|

L 7

They were told o identily two dilferend pairs of switches 1o close, one pair at & tme, in

order for all the five bulba & the circu 1o light up.

Which ko pairs of switches should the teams identify?

Clue Match
Switch __ and Switch S1and S3
Points: +1 =0

Switch__ and Switch S1and S4
Points: +1 =0

Incorrect match option S1and S2
Incorrect match option S2 and S3
Incorrect match option S2 and S4
Incorrect match option S3 and S4
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Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,330,511
Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Raju camiad cut an investigation 1o see how high 8 baskatbalk can boamos when it
was drappad from dilferen| haighls as shoen below,

droppad hakhi
bevinead halghl

He recarded his Fdngs i Be 1able bk,

i =

| Dropped height {cm) ) l B0 7 B 110
Bounced haight [om) - S . - 57 73 100

Raju observed that the bounced height is always lower than the dropped height. Give a reason for
Raju's observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,527

Correctly answered feedback

Not all the potential energy is converted to kinetic energy as some has been converted to heat and
sound energy, so there isn't enough kinetic energy in the basketball to move up to the original
(dropped) height.

Incorrectly answered feedback

Not all the potential energy is converted to kinetic energy as some has been converted to heat and
sound energy, so there isn't enough kinetic energy in the basketball to move up to the original
(dropped) height.

Question 59 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Raju camiad cut an investigation 1o se0 how high 8 baskatbak can boamoes when it
was droppad from dilleren| haighls as shown below,

droppad hakghi
berinead halght

He recarded his fndrgs in e lable bl

En-nppmwﬂmj a0 | &0 0 & 110
Baunced halght [om) 2 | s 57 78 100

Raju nl=o measured the loudress of the sound made when the ball first bounssd an
the ground, The table balow shows e messufamanis.

|
I Droppad height [om] =0 &0 Y] a0 110
Loudnees of first 1005 130 165 180 225
bounce unif) | L
Lising emergy conversion, axplain how the loudness of The first bourse is afacied by
ther haight from whiach the bell was dropped. B2

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,540

Correctly answered feedback

The greater the dropped height, the louder the first bounce. More potential energy is converted to
more kinetic energy and then to more sound energy.

Incorrectly answered feedback

The greater the dropped height, the louder the first bounce. More potential energy is converted to
more Kinetic energy and then to more sound energy.

Question 60 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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Ming was pulling & box filled with books along the floor as shown balew,

Name the force that caused Ming to find difficulty in pulling the box.

Accepted answers:

¥’ Friction

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,330,547

Question 61 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Ming was pulling & box filled with books along the floor as shown balew,

Besides causing difficulty in pulling the box, what is another problem that the force mentioned in the
previous question may cause to the box? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,556

Correctly answered feedback

It wears out the under surface of the box.

Incorrectly answered feedback

It wears out the under surface of the box.
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Question 62 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Ming was pulling = box flled with books slong the floor as shown below,

State how the force mentioned in the first part can also be useful to Ming in pulling the box. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,568

Correctly answered feedback

It prevents him from slipping while pulling the box.

Incorrectly answered feedback

It prevents him from slipping while pulling the box.

Question 63 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

The: giagram below shows animal § which crawde on ils soft fool, The mdareide o s
toot produces a simy substance

slimy Bub=ienoes

N

=ol foal
Expéain how the slimy substance halps srimal S to move on the gieurd, i)}

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,330,575

Correctly answered feedback

It reduces friction between the soft foot and the ground.

Incorrectly answered feedback

It reduces friction between the soft foot and the ground.
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